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1. A human genewhichisY-linked controls t@‘%ength of hair on male ears. One allele produces non-
hairy ears while the other produces hai ry%e‘ars, (hairy pinna).
(3) What arealeles &

(Imark)
%
Q}_o
g
&
(b) If aman with hairy earg§pinna marries, work-out the phenotypes of his children. (Useletter hto
represent gene for hairy pinna). (4 marks)
AY
7
&
......... Sttt
&
%.Cé{ ....................................................................................................................................................
<<Ke‘?’ .......................................................................................................................................................
(c) Explain why thistrait is not observed in females (2marks)
(d) Give one other trait in man that is Y —linked (Imark)
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2. (a) The graph below represents the grovgtf‘?pattern of animalsin acertain phylum
A @Q’b
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@Q/Q Time
6(717 Name the phylum showing the above growth pattern (Imark)
&
e
<
\\ y

& (ii) Statethetype of growth shown (Imark)

<
(iii) Explain the growth pattern illustrated by the graph (3marks)

(b) Explain the meaning of

(1) GO L. e e et e e e e e e e e e e e e (Imark)
() D253V Z=] (o] o) 1] o P (Imark)
() T L5321V T (Imark)
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3. In an experiment some slices were cut from((@ﬁvi ng potato tuber and were immersed in distilled
water for one hour. After that the slices wére immersed in a concentrated salt solution for another
one hour. The dlices were taken out %fifﬁeliquid, weighed and immersed again in the liquid at
regular intervals. Theresults aregqamn in the graph below. Point L shows the beginning of the

2

experiment. N
A
1st Secﬁﬁﬁ 2nd Section ~ 3rd Section
N
Slices iﬁa\)‘istilled Slices in salt Slices replaced in
wateq™ solution distilled water
&6
4 &
o

: 3
*\'-u
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E’ 141 3
2 4 4 4 } } } } ; }
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Time in munutes
a) Givethe name given to the condition of the cells of the slices at point L (Imark)

b) (i) find the change in weight between L and M

Page 4

Nakuru District Sec. Schools Trial Examinations @ 2013 Biology Paper 2



Q

O
N
(c) Explain the condition of the cells a;bg%l nt N. (2mark)
&
R
)
............................................... s
)
2
R
N
........................... PP

%
(d) The dicesw@rere removed from the concentrated salt solution at point P and washed in distilled
water. raw a curve on the graph, to show what would happen in the next one hour in the third

s%coa’:bn. (1mark)

%
(@? State two characteristics of active transport (2marks)

4. (a) Explain how carbon (IV) oxide produced by respiring mesophyl cells of flowering plants reaches

the atmosphere (4 marks)
(b) How are submerged hydrophytes adapted for gaseous exchange (2marks)
(c) State 2 respiratory diseasesin Man (2marks)

Nakuru District Sec. Schools Trial Examinations @ 2013 Biology Paper 2 Page 5



&

\N

\¥

<

<<&

6.

6@

a) ldentify the vertebra (2marks)
K e L e
b) State where vertebraK islocated in human body (Imark)
c¢) Nametwo partslabeled X and Y in vertebrae L (2marks)
d) How isvertebraK adapted to its function (3marks)
An investigation was carried out between 2003 and 2012 to study the changes of fish populationin a

certain small lake. Four species of fish, T, W, M, P were found to live in this lake. In 2004 afactory
was built near the lake raising the average temperature from 25°C to  30°C. In 2005 sewage and
industrial waste from a nearby town was diverted into the lake. 2007, discharge of hot water,
sewage and industrial waste into the lake was stopped. The fish population during the period of
investigation are shown in the table below.
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Fish species | 2003 2005 Zgﬁ’l 2009 | 2010 | 2011 2012
!\Q
T 5900 200 sz? 17 100 | 700 4300 8000
Q
2)
w 300 Q?)QS 8 19 60 400 508
&
M 30*&@‘* 120 |0 0 0 0 0
P (;54300 260 |25 30 35 510 807
i\
@
@q@) In whi,gbeyear were the fish population lowest? (Imark)
Q
N\
)
‘oQ
<<\ﬁ’j?’(i 1) State the factors that might have caused the lowest fist population during the year you have
2 stated in (a)(i) above (3marks)
@

&

(iii) Explain how each factor you have stated in (a)(ii) above could have brought about the changes
in fish population (6marks)
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(b)(i) What isthe differencein therate gﬁ%opulation recovery of species T and P? (3marks)
TN AN
@
"
2
o
A\
&
....\..Q'a."....
2
&
&
QQK (if) Suggest two biological factors that could have led to this difference (2marks)
<
\\

(c) (i) State amethod that might have been used in estimating the fish population in the lake?

(Imark)
(ii) State one advantage of the method you have stated in (c) (i) above (Imark)
(iii) State three limitations of the method named in (c) (i) above. (3marks)
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7. How isthe mammalian skin adapted to its fugetions (20 marks)
@\Q
8. (a) Explaintheroleof Auxinin Geogp’?ﬁhic response in plants (5 marks)
(b) Describe other roles of hormggé in the growth and development of plants (15 marks)
&
N
e Cobann
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